
� ���������
	��
�
��������	�������	�������	��
��������� 	��!�"�#�$�%	��'&#�)(��
* +-,�.0/21436587:9:9;143=<><?1@+-ABAC14D@9E+-FHGJI�K�5MLON�K�P

Q
R N RES 14F:T-UV.BG

W XZYE[]\^['_#`bacYE`d_#`befYEg;hce�ijackml:_ngo[]i]l
`op>l

qsr�tvuEwyxMz|{~};�b���
�J�����=���;���=�������������O�����m�m�'�������y���B�������������-�)�B�]�~�����=�$���)�����~���d�~�B�������y�B�C�|�����~���M����� �y���������y���B���m��� � ���~�f���>�f����� ������� ���~����� �����=���
¡ �������=¢8���£�B�����=�¤���¥���~����������� ���y�>��������� ¡ �������2¦§���o�y�������m�����=¨6©M�y�������~�)���~����� ¡ �����ª���y�6�y��� ¡ �����«���d���=�������y���y�ª¬�­�®C¯�°~­�¯C±�²6³o�����ª�B�´�´�
�y���B���=�O�������¤µ¶���~�m���B�o� �����·���2¦´�-���O¦��O���=�¸���~���y�����~�'���~� �o�y�����B����������� �y���b�����m����� ¡ �=�����~�������8�2¦´�-�f�������B���m¹�¢´���~�6����� � ¡ �����y�>� ¡ �������
�y��� ºB�b���~� �����~�y��º´�����~���H»-¼�½�¯�¼�­ ¾'²�����³o�~� �o���y��¦��������O�~�y���C�O�������~¨�©M�y����� �O������¢y���������������)�y������¢����b���m¿´�y� ³o���=���B�=�6��� ¡ ��� º�����¦>�~�����
�y��� ¡ �����n���^�����~���m���V¢ ¡ ���f�)�~�������C�b³$����¿§µ¶�����)���~�����y�>���y�]�������~����À �b� ³o��Á;Â$Ã�ÄdÅ;ÆÇ�·�y�����=�j���=���=�����m��¹o�����������m�y���y� ���y�'�-�����C��³o�y�=���]� �
�������O�����y���·���y�~�~� �����������4���~�����B���������-�B�O�-�=�)���$���#���y�¤�y��� ¡ �����¸�=�����y� ³ ¡ �¤�B�y�����=���O���H¢C��º��=�>�·�B�M����� �y���)È6����� ¡ ���~���������~�$���8�����y���������
�·�=� ���y���=�$�·���~�~�����������´¦>� ���������j�y���B���m��� � ���~�������y�B�~���B�=�=¨ÊÉ
Ë �~�)���~���|³$�d�����o�)�����)�����y����³o����� �����y�B�~���B�M�y�=�����B�'�B�E�y���B���m���ÌºB�����Í���=� �����B��¢ ���~�����d������¢ ¡ ���B�B����¦��O�-�=��¿C���y��¢ �2³�� ¡ �������M�O���m� ���=�����=�

³��������Î�����B���=¨£Á;�Í���y��� ³$���=���Ï�O�����O� ³o�����Ï���@��È´���O�����y�^�����~���~�����>�B�]�������������������Ï���b�����~���~�����6�����~�O�����~���m� ���~�£����¦v���^�~�~�@����� �
� �����y�=��� ���������8���y���B��¦����6�y�f���=¢H�B��³$�]�=���§�2�m������³o�����v�O�B�]�'³��=����ÆÐ�y�~���=���O���´���0��� ���y����� �����=���:�����=�B�����~���O�����~�����y���=�����~�^���=�����B�^�
�y���B���m��� � ���~�������~���~�������������y�������y�=����¨¥©M�~���~�m�2�'�O���m� �����B¦�³o���������~���y�������~����³$�6�2�m�?¦^�����C�O� ���¥��������ÆV³$�������^����� �y�������y���y���B����������¢
³o�y�����'���y� �O���)�B�~�¥³o�����:�y�=�����������~���y�������~� �����~�]�������y�=� �������������=�������~�¤�)���=���^���~�¥���m�����m� ¡ ����¨fÑÒ�^�y�m������������¢H���)��� ¡ ���~� �����B�¥���|���y�
�2³�� ���y�~���C���m�y���;���������o�����O���m� ¡ ���dÓ!�B�y�f�O�~���y��������¦��������y�����=�������y�¤¿´���~�y�M���
�����y���������b�·�=�����y���=�$���~� �o�y�����B�����]� �=�����������~������¦>�~����¢
¡ �����O�B� �'� �������������������~�����j��È´���O�����y�������~���~�����=��� ���B�C� ¡ �>���=������� ¡ ���'���§���m���=��������� �´�����§��Ôª�����y�B�����������b���~� �������'������� ¡ �����O�B�]�
�·���B�Õ���y�f�����B���=���4�-�����B�d���#º´����³f¨
�s�=�������������B���C�o�y�����¤�������y������ºB�������y� �=�B�M���#���y��Ã´�������y���m�6Ö¥×§�y�����B����� �]���y�'�����y���~�����B¢C�O�����O�����y� ���6���y�¤� ���´ÆÒ����º��=�C�����=�=¨:ÂE���O�

�������y����È��y�����)���o���C�����C���������������y�f���=�����B�y���m��³$�B�|���]�����O�������������~���~�����d³o�����j�'�����~�~�>��� ���y��������������� ¡ �B�O���=¢C�������$���=�B�2�$���~���=�������~���=�=¨
Ø ���m�2��¢4���y�¥Ù�±ÇÚ|®�ÛÝÜÇÛ¶½�®£�������y� �����y�B�~���B��³M������� ¡ �]�������y�=� ��������������¦¥�����B�������~�����~�§�)�B�]�~��������¨ Ã´�=�����~�y��¦B¢4���y� �����y�B�~���B�'���f��³o�y�B���
³$�B�b���0�~�?º��]���´���^�y���B���=�O��������¢#�O�~�m�ª�B���2¦C�-�>��� �·�)�2¦^���~�����y�ªÞ��y�0�y���~�������y�j���)�·�=���=�~�)����ß��)�B�~������������¨>©M�y���m����¦B¢8����³$�B���y���-�=�^����� �
���y�'�~� ���y�������:���y�'�����y���������f³$���~��� ¡ �'���~�m�¥�B�o���>�¶���)�����Í�m� �������y�'º��=�����������������j���|�~���B���m�����M³o�����O�����¥���¥���=¨b©M�~�'�����O�����0���;Ö¥×£³M���
���y�����=�j���0�~���O� ¡ ¦����y���������y�=� �����������8�����=�B�o�·�����à�y���y����� �����B�~���#�O�=� ���C�������d³o�~���m�0³$�����¤���y�=�¥�?º ������� ¡ ���>µ¶�~���������)�~��������¦6³o�����0�����C���m�
��� ���~�0Þ2�·�y�~�)�������~���8�)�B����ß����#���y�������y�B�~���B��¹)¢y���~������������� ¡ ¦6���y���y�������~�~�o���:�y�������m��� � ���y�'�~���B�������)��µ¶��¨ �~¨;Þ���� �-���m� ����ºB�=ß��·�=� ���y���=�
�O�~�m�j���M���)�·�=���=�~�)���M���~�����y�y���)á?���y���y���d³$�����f���y�y�=�~¹)¨
Ã����~��� ���y�=��¢#���y�6���)�B�������M�y���y����� �����B�~���|���������B�����=�¤�~����³o�����=�y�=�v�����~�����y���m� ¡ ��¦�¨>©M�~���y¿��¤���0� �B��� ���=�)�=�C������ºB�������y� ���C�m�f�O�~�m�

���d¯C­ ¾�±f²�±�¾ ­�®~ÜVÛ¶â�²�¢y³$�f�������~� ³ã� ¡ ���¤���]�B��ºB�f�)���=������� ���y����� �����=���H� ���������M�·�B�o�����y���~��������³o�����j��È������������B�~�=¢y�2�m� ���B¢y���y�y���)á?���y���y����¢
�O� ¡ �2¦C�~���y��¢��y�����y�=�¤���m�����¤�-����¦C� �B���y�~�����ä������� ������¨]ÑÒ�~���=�=�H¢#���ª�����������������=���-�=���m�����y�������m�y�y�=�������M�2�����~�)���y��� ���C�����=�����=� ¡ ¦0���y�=���
�]�����=���b�y� ³Ì�O�~���~�B�����=�M³o��� �����d�~���=�y�=�j���6���=���)��� ¡ �����y�����=�B���y���B���m��� � ���~�]�����~���~�����=�=¨ Ë ��� ��¿������������C�������8�~�������|����� �����
���y�=���
���y�=�����)���������~���=º��������~�]�=�C���|�������~���)�~�������C��Á�Â�Ã�ÄdÅ;ÆV�·�y�~����� �y����å2�=�)��Þ��J�~���´������¦��2�����æ�·�����������������|�y�����B�����Z���=º��������~�]�=�C��ßy¢B���6���m�����
���£�y��� º´���y�¥�O��� �y��� ¡ ������� ³$�����·�y��¬�½�¯�Û¶â�²��·���6���=�B�O�B�y���y�£� ¡ ������Ö¥×ç�y�����B��������¨sÁ|ºB���J���~¢M���y���)È��-�������=�~�)�����y�B���=�O�������~���=¢d³o�����
�y�����y�O�����C��¢|���~��������� ���]�=�C�]���b���~����� ���=��������º����·�=�����y���=�]���Ï�~���O�������y����� ³$�B�]�y����èC�y�Í���0��� ��� ����� ¡ ���6���§�·����� ���M�����������y���y�^�B�]���y�
�]�����C�d�~�?ºB�¤�y���-�=�H¢��O�]����� �b³o�y�=�0���=�������y��³o���������y���O�¤�·��� ���y������¢~³������~�������~���m�M�~�?º����·���~�~���Í�b�~�����·���m� ¡ ��������³$����¿>³o�Í���0���)�����������
�O¦´�C���B��������������¦v�)�������y��������� ¡ ���¥ém¼�­=¯�¾�±)®�Ü�����Ö¥×ZµÇ��� ¡ �=�Í���B�y�>���~� ���)� ºB���m������� �B�O�]�����$�y�������m�����f³o�����O���=�@���@�y�m���)�����)�?¹�¨vÑÒ�~���=�=�H¢|���
�O�=�����:��� ¡ �b�¤�B���y�=�����y�m�~���m���)���������2����������� �����=�]�y���E���f����������� � ¡ �����|�~���B���m�����
���>�¤���=���ÍÆÐ³��B�����������~���~�����$���~���|���~��¦'�������]�����)�B�C�����C�
���y�=� ������º����M³o�Í���0�'³$������Æ ¡ ���~�?ºB�=���O� ¡ �O���d���8���y�f�����y�B�~���B��¨
Ë � ¡ ��������º������~�������¥���m���=�d��������¿����·�y�O���y�����y�����B�������=¢����~������� �'�����d�~� ³s����� �����6� �����=�]�y�����y�'�����O���������|���·�y����ÆÐ���������B¢��~��� ¡ ���

�y���B���m��� � ���~�^�����y�B�~���B�j³o�Í���J�ª�O�B�y�~�Î��� ���~����� �����=��� ¡ �B�O���=¢$����� ��³o��� �>���ê���y�¥����� �¥���y������������Ö¥× ¡ ���>�m��¿´���~�£����º ���C�m�����j���
���y�'�]�B���'��� ³$�����·�y�8���=�m�~�y�������B¦6�·�����"���=�y���m� �����������#���������B�����=�o���~� �¤�����y� ³ç�?º ������� ¡ ����¢-����³��=���:���d����¿´���y���B�������y�C�b���|�����~���������)���C�
����ºB�������y� ���C�m�;���������������y�$���������y���~�����b�y�=�����B��¨Eë����B�B����¦]��������¿´���y�~¢C³����~�?º�������� ���~���'�O�������~����¦��2¦´�-�=�H¢�� ¡ å2�=�)�����������C�����������y���������
³o�Í���§�-� ³$�����·�y�E���B��¦´� �����y�y�����ä���~�v�j�)�B�~�����O���=�B����¦��y���B�y���f�B���y���¤ì��?ºB���y��¢ ¡ �����y�B���~�������B�)���~���0Þ2���y� ¡ ���2�����MíC�?º �j���~�����y� ¡ �=�O�����
ÃC�����~�y���m�6Ö�×8ßy¢ ¡ �y� ¡ ������¿´���~�'�y�=³J�������~�~�>���6���y�¤³$�?¦]���y�=�����·�=� ���y���=�M����������� ¡ ���~�=�6���~���=�������)��������¦����������$������� ���]�=�C�$���#���y��� ¡ ���
���~���y���yÆV�'����� ¡ ���f�y�����~¨
���;³$���������Í��¢C���y���y����������¦ ¡ �=�y�)�y�m�$���8���~�m�6���~����å2�=����³��B�y��� ¡ �����y�������·�����H¨ Ø ���m�2��¢´³��d��È��������$���y�������m����� ���y����� �����=���4�2�����������~���

���:���y�b���������B�����¤� �����=���M���6���y���B�=�O�M���y�y� º ������º����������-� ³$�����·�y�������y�B�~���B���·��� ���y������µ·�����������)�y��������¦�³o�Í���0���=�B�����>�������y�f�2¦´������¦��2�����>¹
³o�y���m��³o�������)�B�C����� ¡ �y�������'���y�f�O�����m¿����8���������M���~�>�����m�y�y��èB�~�=�$���������y�B�~���B�������O������¨|Ã´���)�B�~����¦�¢ ¡ ¦>º´�������y�����#�Í�m�o�)���=������� ���~����� �����=���
î2ï
ð�ñmòVó?ô2õ�öm÷Vø�ô2ùÒòMñmúHòÇó?ôdø?õVñ�û?üÊô2ýãþÊ÷|òÇñfø?õÇñ�ÿ=þ��?ôdö��?ô����?ö�òVô�ö���òÇñ�ýdö�òVþÊñ�ð��yòÇñ=ñ�ü-÷	�?ø?ø�ñ�õ¶òMömð
���?÷Vô2õ;þÊð�òÇô2õÇú�ömù2ôO÷;òVñ�ýdö���ôMú�ñ�õÇýdömü�ø?õÇñ�
�õÐömý��?ôÒÿ)ô2üÊñ�ø?ýoô2ð�òø�õÐömùÒòVþÊùOömû?üÊô�� òVó?þÊ÷8þÊ÷HòVó�ô|ú�ñ�ù���÷8ñmú�ö;÷VüÊþ�
�ó)òVü ���?þ ��ô2õVô2ð)ò#üÊþÊð�ôEñmúyù���õVõVô2ð)ò8õVô2÷VôOömõVùVó��

�



�y�~���=���y���y�y���y�C��¢-���y�������y�B�~���B��³o����� ¡ �]�~���������)�~��������¦�³$������ÆÐ���y�����=�0���6�~���B���m��� ºB�����Í�-��� �����B�£µ·���~���=�=�H¢H�B�y�����C���=�B�����B�¥���d���������O�����0���y�
�����y���~�������~�����´ÆV����ÆÐ�~������³o�����¥�����y����� ¡ ���f�����B�����·�B�d�����������y���y� � ¡ �������Í��¹�¢����~��³o�����H���C���d�y��� º´�����f� ºB���y���)���¤�·���o�B�y���B���y� ���=���=�����m�����
���y���d�����=�~¨E©M�y���m����¦�¢y³$�f�����O� �y�B���¤���~� �d�B�y�o�����y�B�~���B��³o����� ¡ �¤�·�B�y�~� ¡ ¦6�����´¦>�~���B���m��� � ���m�|��� ¡ �������������j���~� ¡ �=���y�����·�y�8�B�y���·���
�'º �������)�2¦����:���y�y�����=� ����������¢y�B�M�~��� ¡ ���=�����y�����B�O��³o������ÃC�m���~�y������Ö¥×;¨
Ë �;�����E���y�����y����å2�����8��� ¡ �����y�B���y�M�����B�)���~���4�2³$�d�2�������~�y�H���´�B�y�����=���=�����m�����d�y�������H���y�����C���=�����2�8���f�~�����y�m���y®4½ ÜVÛ¶½ ®~²�½2éMâ�½�¾d»4°�ÜÐ­��)ÛÝ¬ÍÛÝÜ��

���~�@���Î�����y�����������'���~�£� �����=���]���~� ����� ¡ ����¦£���y�=��¢$���~�Ï���~� ���y�����=�B� �)È��-�������=�~�)������³��B��¿´���y��³o�����Î���~�j�y�)���������]���¤�¥�·�y����ÆÐ���������
�y���B���m��� � ���~�^�����y�B�~���B��¨J�"�����C���m���o�����=� ¡ ���~���~�ê�B�y�6���y�y���B���m�Ï�������~�������y�����������B�����j�-���m������������º��0���~�ê�)�����)���y���~���d���y���y���~�)�
� Ô4���m���=� ¡ ¦ ���y�b�����O�$���8���y�=�����O���m�����y�;�������y�¤¿B��¦]��� �?º��B�������y�]� ¡ ��� ³MÆÐ�y�>���
�)��� �y���)È����2¦����6���y�f���=�����~�H¨E©M�y���$�y�y�����C�O�B�y�´¦ ³o�����������O�
¡ �b�������)�����y���>���~�;���y�~���C���m�'���f���y�����y�������C����¦'�y���B���C�O���]�y����å2�=�)�������y�b���������C�������~�O��� �y�������Í�2¦]���4���~�����������C�����M� ���������|³o�����-�����O�y���M����� �
���y�fº ���������~���·�=�����y���=�M���8���y�f�y�������m��� � ���y�'�����~���~�������y�o���B���)���y���o���j���)���=���j�����6�y�����~�)���y���=��³$�?¦B¨

� �~����³o�����:�y��� ¡ �]���y�]�~�m�O�¤���O���=� ���¤���0�)�B� ¡ ���y� �����������������$íC�?º?�����~�^Ö¥×|¨�Ö¥�B�O���y����� ¡ ��¦B¢4���y� � Å$��Ö¥×Î�����y���~������� 	�
E��Ô4���m�
�'ºB���m�O���������¤Þ�Ö¥×v³o�����j� ¡ å2�=�)����ß'³o�~���m�j�~�B�o���m�y����ºB�=�6�����~���������m� ¡ ���¤���B�y�y�������Í�2¦���� ���y�]�·�y�����������������y�����B����� �]�=�����������=�����C�o¦������m��¨
©M�y�6�����2������������º��=�y�=�������d���y�'���y�y���B�B�m��¢
�y� ³��=º��=�=¢#�����=�����£�����'�O�=�����C����� ¡ �B�O����¢:³o�y���m� ¡ �����@�y��� º´�����=���0�������B���B�~�f�����~�y���������£���$���y�
�����y���~���������~�0�y�=���~�����6�����O�y�������~� �¤�����~�B�b�B�C���0�����B���=���#�y���B���=�O��������¨]µ¶�$�¤�y���=�����C�=¢ � Å$�bÖ�×@���´�=���y�����~�?ºB�'���·�B�������#���������C�������=¢
���~�6�Í�d���M�y�~���������M³o�y�)���y���o���o���=�~�y�M�����������#��� �y���B���m��� º��=�������������������������y�f³M�?¦ ³��¤�=�Cº´���������B¨ ¹ Ë �f³o�����H�����C���m�����b���M���-�B��������º��f�O�����
�Í�;����� ���B�O�-�=�)���d���|���y�������y�������������y�������������>���=����� ¡ ��� � Å$�bÖ¥×
���y� ³$��ºB����¢y³$� ¡ �=������ºB�����~� �����y�d�����~���~�����f³o�����
���6�����~���������m� ¡ ��¦
�·�y�O���y���������Í�m�b�)�B� ¡ ���~���������0���E� ¡ å2�=�)�b�������=�C���=�0���~�j�y�����y�=�b�B�����=�o�·�=�����y���=�=¨�µ¶ë$�=��� ³s³$��³o�����8� �=�B�����B������� �f�~���������)�~�����������-�=���m�d���
� Å$�bÖ¥×^�·�����¸³o�y���m�j³��¤³o�����#�����?³ ���~���y��������������¨Ê¹

têr��^{y}|z|{yu������ uE�b���������b}M�b}
�2};z��
Å������ �����y�j�6�~��³Z�~���B���m��� � ���y�������y���������]���¤� ¡ º´���B�~�O��¦0���§�������O��º��]�y�~���=�O�m��¿´���y�~¢����~�����§���y�����y�������C�¤�y����å2�=�)�f³�� ���B�����~�^� ��������¦
���^�=������¦^����������� �>�)È��y�����m� ������¦����=���=�����m�ª���=���y�������y�¥���Ï�¥�~���������2¦´�-�6�����~�y���������@���o���y�������y�B�~���B�6���~�@���)���~���ÏÞO���C�������y���)�����mß��·���
�Í��¢8�-�����~���~�¤³o�����ª��º´���=³ç���¥��� �B��� �O�=���������¤��� �y����� ���C�m� �������§�)Ô4������� ������� ���=���y� ����¨ � �y�����y�y���B���m�^³o����� ¡ � ¡ �����=�^���v�2�m� ���)ÆÐ���ÝÆ
���y��ÆÐ���O�����=º��������~�]�=�C���¤���v���������B�����=��¢8�2¦´��� ���y���B��¦����~�§�����y���������������O������Ó � �B�O���������)������������¦�¢#���ª���~���������)�y������¯C­ ¾�±6¾ ½�Ù�±�¬$�·���
�)��� �y�y��� �����B��³o�~���m�j�~�B�o�y��� º��=��º��=��¦6�~�O���·�y�����j���y�b���y�����=�B�o³$����¿>���j�����B���=�$�·���dÖ¥×;¢ ¡ ���b³o�~�B���f���������C���������~���)�·�y���y�=���d���y�������m�$���
�)È´���=�~���¶��� ¡ ��¦B���~��Ö¥×^���~� ���'�=� ¡ �m�����b�����´¦������������m�;���8� ¡ å2������ÆV�B�������C�����������y�B�~���B�=�;���~�m�6�B�;���y�y�=���������~�)�¤�����6��¦´�~���]��� ¡ ���~�y���y��¢
�·�������~�O�����~�)�B¨ � �y�����C�����C�������^³o����� ¡ �'���j������� ³s���y�������O�����^���;�B�y�������~���~�����������B��� ³s�~�����y�m������¦0�����¤���|���y���2�����������~���]�?º?������� ¡ ���'���
���y���M� �´�y���V¨

� �O���y�ª�B�y���B���]�j� �������V¢M³��0³o�����b���=������� ���~�Î�y��� º´���y�j�^�·�B�������o�������y�=� �����������b�O�=�����C�������]�·�B�6�§�y���������2¦C�-�0º��=���������@�������y�
�����y���~�����B¢������������y�=��³o�����j�'���B�����o�·���M���=�B�O�B�y���~�'� ¡ ���y�$�y�����B��������¨#ÑÒ���B�����=�;���]�B�m�y����º��b���y���=¢y�O�B�]���~���O�M�������y�¤�y����å2�=�)��³o������������� ¡ �
����¿B�����y��³o�����j�)�B�~���������y�������y� ���~�6�)È´���=�~�����y� ���y�$���~�������)�����=���4�y�~�y���m�2�m���~�����y�]���#���y�¤� �������V¨ Ø ���~������¦�¢��B�y�M�B���]�¤���������C�������$³o����� ¡ �
�~� ���y��������¦0±��´±mâ)°�ÜÒ­���¬�±�¢��O�'³���³o����� ¡ �¤� ¡ ���d����� ¡ ��������¢������ �B�O�|�·�����·������¢����£Þ����y�������������~ßf�������y�$�����y�B�~���B�d���)�~�~�Í�����B��¨|©M�y���;³o�����H������� ³
�~� µ¶�����¥�����y���m�m¹o������È´�-�������]�=�C��³o���������y� �~���'���|���~�'º ���������~�������y�����������·�=�����y���=�=¢4³o�y���m�^���^���~���^³o�����:�y��� º´������º �����~� ¡ �����·�=�=� ¡ �B�m¿
������� ³o���y�]�~�$������� �y��� ºB�b���y�f�����y�B�~���B�������O�����8¨
Ë �¤�y� ³ �B��ºB���]� �������y�)���������=���������������������������#���y�¤���������~�~�����=�$���#���y�¤�y����å2������¨ Ë �¤³o����������������� ¡ �����y�¤�y�~�����=�$���������B���=���4���m���=�=¢

���y�B�y����³��¤�=�Cº´�������������y�=�à�B� ¡ �=���y���~�~����������¿��=�����������=��¦����j�~���m�������=�H���$���~������³o����� ¡ �f�'�~�m�j���C�����m���������B� ¡ �)�2³$���=�����y���j¨

�! �"$#&%('�)+*-,/.�021435)765'8*�,�19)5:
Ë �M�~�?ºB�$�������=�B��¦¤�����=�C�����~�=�����y�o�C��� �$�]�����=��³��$���B�����~�'�����~���o���#���~�d�O�=� ���C����� ¡ �B�O���#�·���
���~�o�y����å2�=�)�=¨#�b�'���C���y������º��o���~�'����� �=³o�~� �
�����·�B�����������������������������6³$�B�;�B��ºB�������;�<	�
2�y���]�B���b�y�����)���O�����=�)���~�B��¢C�����B�y��³o����������¿��)�m�m�>�����~� ³ ���y�$� �´�y���4����� ¡ ���~���=���������C�������y���)�
º?�����������;�����y�B�~���B�=��µ·���������������)�y�����M����� ¡ å2�����o�������=�C���=�>�����y���~������³o�Í�������y�y�=���������~�)�f�����6��¦´�~���]��� ¡ ���������~�C¹�¢~³o����� ¡ ���·���������)��� ���y� ���
�~�����o���#�B�y�o�y���=�����C�dÁ;Â$Ã�ÄdÅ;ÆÇ�·�y�����=���y����å2�=�)�=¨
ÑÒ�]���m���=�8�����y��� º´���y��å2�~�O�����������������'�·���
���~���=�~�O�~���y�¤���������~���O������¢ ���E���
�y���)����������¦¤�y�����;�����B�����C���¤�d�·�=³£���=�m�y�y�����������)�m�������:�)�B�~�)�=���~���y�

³o�~� �d³$���������=���y¦>¿´�y� ³Ì� ¡ �����d�B�y�b� �������V¨o©M�y�����=�B�����o�y�y�¶��� ���������b³o�����j���y���������y�=� ���������o�~������³o�����#�O������� ¡ ��� ¡ ���f���>����¿����������O�
���8���y�f���=�O�M���#���y�f�y�����-�B�����V¢C���y�B�y�������?¦>�~�?º������'�m��¿B�¤����� �¤���
���y�d�����������M�B���������2��¨

� �~���~�����·���������¥�)�B�~�2���������������������B�y���]�����=�|�2�m�������b�·���B���������~���������=��¦0�)�B�~�O�����~�����=�¥�~�B�2¦´�-�=�>=@?O­�¬ ¯C±���¼�­j�����2���������=�����=�=¨�©M�y���A=yÆ
������� ¡ ���¤��È´���O���|�����2³$��º��=���������~���#��¬ÍÛÝ®-±m­ ¼B=yÆÐ�����B� ¡ �m�AC£���~�>���0ÛÝ®�ÜÇ°�ÛÝÜVÛ¶½ ®�Û�²�ÜÇÛ¶âb���y�ED~¢B���~�b��� �O����� ¡ �=���~��� ¡ �������y���]�·���B�æ���y�d�·�B��� �=� ¡ ¦
�]�����~�#���~�6ÞGF ßd� ���y�������2¦�¨#ë$¦f� �=���~�#���~���O��� �y���$���������B�������=���C�)�����2�����~�)�������f³o�y���m�'�B�y�y�
�O�~�����O�����y�C�#�·���
�y����å2�=�)�������~�8�������y���O�$������� ¡ ���B��¢
³��f� ¡ �������j�2³$�������m�0���������B���������M���E�B��� �=��������¦C� � �)�������f� ���~�����y���8�����C�O���j��� �����B����¦IH�µ/C�¹b���~�0���=���������O�����0�)���B���=�j�=� ���=���B��¦IH�µ�DC¹)¢
���=�������=� ¡ ¦��6�)��ÆKJ¤�������O�������?å2�~�~�������B�0���j���y���~���~���#³$�?¦B¨ L�©M�y�f�¶���)�d����� �b�B�y�b�������=���������=�o�������)�B�~�O�����~�����=���·���B� �y�C�2¦´�-�=�M=yÆÐ�����B� ¡ �m���
�������y���M³M�?¦����o�����B�y���������B��¢��������y�f��È����O���=�~�)�����
�=��������¦>�~�~�����m�O���´���¥°�®~ÛON ±�¼m²)­�¬�Ü2��»y±)²��������y���O�f�������=���������=������º��=�$�~�o�]�B�C���6�~���~�y���¤���
� ���´¦]�B�O�-�=�)�������H���~�����$�O�����~�����y���������>������� ³d�;�~�;�����~��� ºB�d�O�=º����m���������O�~�Í�m�;ºB����¦'����������¦�µ·���y���M���y�~���C���m� ���$���������~���O�����������)�m���������;�<	�
Ý¹)¨
PRQ��?õTSVUXW4Y#þÊ÷:ô2÷V÷ÇôOð)òÇþ ömüÊü �[Z�ömýdömõÇùÐó?ôR\ ÷:ùOö�òVô�
�ñ�õ ��ñmú4÷Vô�� �?ô2ð�òÇþ ömü 
)ömýoô2÷���òÇó?ñ��

�ó�ñ��?õ^]�ýoñ � ömüÊþ ò �¤þÊ÷
õVþÊùÐó?ô2õ
òÇó ömð�ó?þÊ÷��´ömð
��þÊðf÷Çñ�ýoô;÷Çô2ð?÷Vô�ùOñ�ý�û?þÊð?ô2÷
òÇó?ôø�ñ`_Hô2õ:ñmú+Z�ömýdömõÇùÐó?ôR\ ÷baVû?ömù ��òÇõÐömù	�=þÊð

�ôKc�ø�ñ�ð?ô2ð)òVþ ömü<d�ömð
��ï
û?õVömýo÷	� ��\ ÷^aVù2ñ�ø �=þÊð

Rd�ñ�ð�ô �eQ��?õTS^UgfGY
ömø?ø�ôOömõV÷
òÇñ�û�ô|ÿ)ô2õ �fù2üÊñ�÷Vô|òÇñ�ñ�ð?ô�ñmú�òÇó?ô�ù�ö�òÇô�
�ñ�õVþÊô2÷|ñmú


)ömýoô2÷�ù2ñ�ð?÷ÇòÇõ	��ù2òÇô���ô � 

�?þÊðih jlk4U�ð ömýoô2ü �bòVó�ô;ñ�ð�ôe_8þ òÇó¤ð?ñoþÊð?ð�ñ=ù2ô2ð?ù2ô�ñ�õ@_Hô2üÊü mÝû?õVömù ��ôÒòVþÊð 
oùOñ�ð�÷ÇòÇõÐömþÊð)òV÷:ñ�ð�÷ÇòÇõÐö�òÇô�
�þÊôO÷nY ��òÇó?ñ��

�ófñ��?õ$S^UgW+Y�þÊ÷ � �?þ òÇô ��þ �Bô2õÇôOð)òú�õVñ�ýªòÇó?ô2þÊõ#ù2ñ�õÇõVô2÷Vø�ñ�ð
�?þÊð 
MüÊþÊð?ôOömõ�ù�ö�òÇô�
�ñ�õ � �

o



ÑÒ�C���y�Í����ºB����¦�¢��B�y� ���������y���y¿¥���|���~�]�����y�=���¤�=� �������B��¦ H�µ/C$¹����¤�6³$�������j�·���¤� �������������y�j�-�����=�C����������¦ª¾]°�ÜÐ­��)¬�±)¢��~����ÆÒ�)�B�C¦C� ¡ �����y�����
�O�~�m�¥�B��µ¶�y����ÆÒ�)�����~�=� ¡ ���?¹M� ¡ å2�����m�G�M�6����� �y���m� �������¥�=���0�B�y��¦ÎÞO���O��ß ���y�'º �����y�����E���¥� ¡ å2�=�������~����¢4�O���~�)���Í�|���y�'�O�����������E���y�'� ¡ å2�����
�m�~���y�B�=���������¤��Ô-��������ºB����¦������y�������=� ¡ ¦����y�6�y��³ º �����y��¢
���~�§�������f�~�0���B�y���=���-�B����� ¡ ��� ���0�B�)�����f���y���B���§º �����y��¨^µ¶©M�y�����)�B�y�y�����������
¡ ���2³��=���0�)�B�]�~�������y��³o�����¥�O��� �������~�����y�������=�B�o���:�����y�����d�����B�����~�B� ¡ �=���0� ¡ �O�=��ºB�=� ¡ ���·������¢ ¡ ���d���~���)�B�y�y�=�)�������j�O�=�����M��� ¡ �f� �B���
�y�����)���O�'���^���y��� �������:���~���^���^�y���=º´���B�~�b³$����¿4¨ ¹^©M�y�]���C���y�Í�����B�y���2����� �������=������¦�H µ�DC¹)¢��������y�]�����y���¤�~���~�H¢��=��� ¡ �]���y�B�y���C�¤�����B���
³��B�����¥����®-½�® ?Ò¾]°�ÜÐ­��)¬�±jµ·���f�=�������)�B�C¦C� ¡ ����¹b�y� �m�y¢8���~�m�v����º �����y�=�¤���;�2¦´�-� ����� �����·�y���������������E�y�����B����� �=¢-���B���)���y���¤³o�����v�y�����B����� �
���´º��B��º´���y���)�=�O�m�����¥¬�½�âm­ ¬H�~���=��������È������������B�~�$���~���~����ÆÐ���=�������2�����C���O��� ����¨E�b�$�f�����O�����~�y���?È������ �������8¢����~�����������~���y¿ ���@H µ�C�¹�����Þ�íC�?º?�
³��B�����yß������ H�µ/D´¹b�B�6Þ�Ö¥×ª³$�������yß Ó ���~���=�=�H¢4����³o����� ¡ �'���y� ³o�¥��� � 	�
:�y� ³s���y�=���'�=� ���=���B�����=�d�=���¥���=���-�=������ºB����¦ ¡ �����O���j�����]�����=�
íB�?º � ÆÐ����¿B�����~�¥Ö�×HÆÐ����¿��'�����y���~��������¨ ���ÎÖ¥������� º��=�=¢y���~���y¿��d���6���y����È´���O�������)�����;�y�y��º��=�������8�2¦´������¢4���~�'�����¥�=�B�O����¦������m���y�B�¤���~�������y�
�����y���~�������E�y���=�)��������¦'��� �m�m�����~��� �������-�������y�¤�����~���d���~� �M�����
µ¶�)Ô4�=������ºB��¹��2���������=�����=�|�������)È��y���=���O� ¡ ��� ¡ ¦ ���y���B���m���æ�������y�b�����y�B�~���B��¨

� �~� ¡ �������f���y�=� ���o�������=�����B�0���y�������m��� � ���y� �����y���~�����f�)�B� ¡ ���y���y�>íC�?º?��ÆV����¿��f���~�0Ö�×HÆÐ����¿��¤�·��� ���~������¢����0³o�y���m�¥�]�·�y�~�~��� ���C�����
�����O�����~�)�������>���;�=���·���m�)��� ¡ �)�2³$������¾'°�ÜÒ­���¬�±����~�¥®-½ ®9?Ò¾'°�ÜÒ­���¬�±�Ü2��»y±)²�¨E©M�y�������O�����6���H���~�������y�B�~���B�o³o����� ¡ �������O�y�����=� ¡ ¦]���y���2�����������~���
�������~��� ���������=¢C³o���������~�b�2³$��¿´���~�y�������2¦´�-�=�M�)�B�����=�����B�~�����y�¤���]� ¡ å2�=���m�;��� H�µ�C�¹$���~�IH µ�DC¹����=������������ºB����¦�¨Eë$�����6�������y�=�����=� �������B�����=�
�~�?º���� �����m�0�������y�=� �����������#�O�����~�����y���B¢~���~�)���~�����y���y���B�y����ÆÐ���m�����$�2¦´������¢4���������y���b³o����� ¡ ���~���=�����6�O�~�������2�b���2¦C�-����¦��2����� ���~�j�������
�������)�~���~�o�·���d���y���y�����B����� �]���y�������y�B�~���B�¤�Í�m�O�=�Í�2¨d©M�y���y�����O�=�~�)�����|���~�����y�m�����~���������0���M²m° ��Ü2��»-ÛÝ®C¯����¥�B�y�d� ���������d³o�����
������� ³s�~�d���
���~���������B������� ���¶��� ���������f�y���������v���M���~�y�����Í�m���~��� ���§���~�������y���~�����B¢8���~�^�-�����~���~���O� ¡ �2¦C�-�=�¤���$�����y�=�f¿´���~�~�����¤³$�����Ç¨�Ö0������� ºB����¢����y�
�·�y�~�������m� ¡ �)�2³$���=� H�µ/C$¹;���~�IH�µ�DC¹�³o�����H������� ³ê�·���$�����m� ¡ �������~�>�~����ÆÐ�����m� ¡ �����~� �������]���C�����m�����$����º �������B�~�;³M�?¦���¨MµÇÃ���� �������������)�y�����
�·�=� ���y���=�M³o�y���m��³$�¤�)È��-�=���o���y�f�����y�B�~���B�b�������~���������f³o����� ¡ �f�]�=�C�������y��� ¡ ����� ³f¨Ê¹

� �~���·�~�O���y���|�B�O�-�=�)�:�����B�y�E� �´�y�����E���=������º��$� ���C��������¢B�O���~�)�M���|³o������º ���O����¦����~�)���=�B�O�����y�d���)�B���M����³o�~���:³$�M³o����� ¡ �d� ¡ ���$���¤�����)���~���
�������y�M�����y�B�~���B��¨:ë����������y�b=�ÆÒ������� ¡ �m���$�)��� ���=èC�y���y�-�=��³o�Í������°�®~ÛON ±)¼m²�­�¬C»-¼�½
	�±�â�ÜVÛ¶½ ®~¢~³o�y���m��� �=�����;���y�f�)�B�����=�����B�~�����y�'�=� �������B�����=�
�)���C�m�����j���j� ¡ å2�����d���~� �b�~���?¦��M���y���������f���|�ªÞ2�2¦´�-�f���:�2¦´������ß~¨$©M�~���b�]�����~�d���~���d���~��¦j�����j� �������#º��=��¦��2�����B�y� �2¦´���f���y���B�����=�b�O�~�m�
������
d¢y���~����ºB�������B������������¦����~�����~�����2�����C�d�O¦��O�������o���~�m���B�oÖ¥����������ÆÒ×������À �oÃ´¦��O���=� � ¨yÑÒ�����=�����M���8���~�f�y���B���m��� � ���~�������y�B�~���B��¢B���y���
�y���]���y��¦ª������� ³d���·���]º��=��¦v�2�����B�y���-����¦´� �����y�y���O� ���b³���³$���C�'���=¢ ¡ �y���������¥�B���=�~�]�y�£���y���-�B����� ¡ �����Í�2¦§����� � � ���´¦v�����~�O�����~�)�����·���
�y���B���m��� � ���~��ÆÐ����ÆV���~�)ÆÐ�������B� µÇ�O���m�^����Ö¥×�ÆÐ�O�2¦´���¤ém°�®-â�ÜÐ½�¼m²]�B�������y�����^�O�����~�)���y���=�����¤���§�)�������O����¹d� ���B�B�f�������O���·���B� �·���B�"�=���O�=�B����������¦
���y�d����� �o� �=�m�~���y���O���|�B�
���y�C�O�o���-���y��Þ��������=ß������y�B�~���B��µ¶���~�y���=��¢��·�B�;�O��� �y�������Í�2¦'³��o� �����C�;��ºB��� �m�y�´�B���M�y���|���f����¿��d���´¦��O¦´�C���B�������
�����O�����~�)������� ¡ �)�2³$���=�@Þ��������B�=ß����~�£Þ��O��������ß�����º��=���$�������y�¤�����y�B�~���B��¹)¨
©M�y���$³o�����H�O���o�~���·���=�b���]�����O���������~�6�)È��y������������� �����������C����������¦
º�����¦]��� ³$�����·�y�-�·�=�����y���=�=¢��O���)�y���b���>���y�¤¿C�~� ³o���������b���~�����2¦´�-�)ÆÒ�����·�)�2¦ ³o����� ¡ ���B�����y���=� ¡ ¦����~�$�B���y���������)�����'���y�¤�O�=�����C�����b� �����=�Ç¨:ÑÐ�
���$�������y���o�����=�f���~� �o³$�¤�)È��������M��� ����¿B�b���y�¤� �B�O�M���y�y� º ������º��¤���~�6�¶����ÆV���=�B�m�y���y���)�B�C����� ¡ �y�������~����� �y�����B����� �]���y�'�����y���~���������=�����B��¨
ë$���O�����=�¤����� �'�����~���������y� �����B�¥���|���y�'���y�=�����)���������:���������������������y���^� ¡ � ºB��¢-���y�'���B�O¿0���¥���y�����y����å2�����¤³o����� ¡ �]�������´º��=�O�����B������� �B���

�)���B������¦'³o�~����¿´���~�y�����H�2¦´�����)�B�~�2�����������B���;�����b�?º ������� ¡ ���b�������y���]�����=���=¢´���~���~���~���b³o�~���;�2¦´�����;³$���=���>�~���$���C�����B�y�$�y���B���m��� � ���~�
�����y���~�����B¨ Ø �B�;���~�O�������)��¢C���M�����=� �|���~�������IH�µ/C$¹E���y�����������M�2³$��¿´�����y�;���dÞO�y�������~�)�;�2¦´����ß�Ó ���y��³o�y���m�>�=��� ¡ �b���O����³o�y���>���y�b�2³��
�)��� �-���y�=�C���$�����d�����y��¦>���~�����-���������C��µ2Û��Ý±��;�y�'�y���M���~�������2�m� ���?¹�¢y���~�>�B�y��³o�~���m��������� ³d�;�·�������y�¤�-�B���O� ¡ �������2¦����#���C���=�O�·�=���=�~�)� ¡ �)�2³$�����
���y�j�)�B�]�-���~���C���=¨£Ã´��ºB���m�����2¦C�-�j�O¦��O�������]�~�?ºB�>�����)�=�B����¦ ¡ ���=�@�y�����-�B���=�ª�·��� ¿��=���y���y�¥�����B�m¿^���b����³o�y���m�Ï�~�������]���o���y�j�y�����Ï�����
���~�y���-���~���=�C�M�������y���o�����~����¨E©M�y���M³o������������� ¡ ��������� �-���������B�o�)�B�~�)�=���6�·���o�~�o�����~�)�¤³$�������¤���=�������y���y� �'�����~���~�����b³o�����jºB�����Í���=� �����B�
����� ���~��¨ Ë �f³o�����H���y�=�����·�������O�����O� ¡ ¦6���´º����2�����C� �����y�'��� ³o�~���d�)È´���=�B�o�B�y�d���������B���������$�y��� º´�������]�����=���o�·���M���~�=�����2¦´�-���O¦��O���=� �=¨

�-�  ������ 19*�19*����
#���'�)��435'��9# 67#! T)7,/*�,/14)
" �?º´���~�ª���´º����2�����C� ���=�ê³o�~���6�����-�B���O� ¡ ���¥���J���������>�����y���B���m��� � ���~�§�����~���~�����¥�����O������¢d���y�^�y�)È´���O�������¥³o����� ¡ �¥���Ï�)��¦´�O���������$#����
�y���������2¦C�-�f���)���y�Í�����B�0�·���b���y�d�~���B���m��� � ���y�]�����y�B�~���B��¨ � �~�d�y�y�����C�O�f���o���>�)�B�]���y�0³o�Í���¥� �y��� ºC�������B�~���������~�y���������0³o�y���m�0³$�������
���=���������o���>�B���y���|�����=�����)���;�·�=�=� ¡ �B�m¿]�·���B�Z���y������� ���~�y�Í�2¦B¢C���~��³o�y���m�6�����y��� �·����� ���y� ¡ �������|���8��� �����b���)���y�Í����ºB�bºB���m�O�����>���$�f��� �����
�y� ����¨E©M�y�f�~���O�������y�����M�y���������������=�M³$�¤���~�����H�~�?ºB�¤����� ���~�0�����¤���$�·�B����� ³d���

% � �y�������y���~�����f���y���y���0���y�]�����6�����y�������������~�������C�������y���������������j�������y�b���������B�������]�����=�Ç¨oÑÒ���������H¢��B�y���y���y����� �����B�~���#�O�=� ���C�������
³o�����:�O�=��ºB�����M���y���'&>�)�����8�����~�y���������¥���:���y�'�����y���~�����B¨ Ë ��³o�����#�����O���O�d���y������� ���m� �����B�0���6�B�y�0���´¦��·�=�����y���=�d���~���b³��'�����~�y���
���B�������y���)�¤�������y� � �������V¨�©M�y���¤���¤�)���~�������8�����B�y�����y�y���B�B�m�0�����y�������m���nº��=�������=� �������8¢4�����~�)�]�Í�¤³o�����:�����O�y���'���~����³$�'���)�m�����^�
���=��������� ¡ ���������B���=���4���m�����6���
�~� ³ �y�����B����� ��³o����� ¡ �����?º��¤���~���y� ³ ���y�fº ���������~�$�~���O�m�M���
���y�f�����y�B�~���B�b���C�����m���)�=¨

% � �y�������y���������'�O�y�B�y��� ¡ � �)���=��������� ¡ ���������Í�·�~�Ç¨�©M�y����� �?¦0�����=���>�m� ���~������� ¡ å2��������ºB�'�)����������������¢ ¡ ���f�>� �B����� ¡ å2�=�)����º������=�O�
³$���y��� ¡ � ³o�y�)���y���f���f���¤�-�B���O� ¡ ���������O������������� �y�������~���~�O���·�y�E�y�����-���������=������� �������'�~�y��ºB���m��������¦0���y�~������� ¡ ���'���j�����E�y�����B����� �
�������y�'�����~���~������¨fÁ|È���� �y�����b� �����C�¤���~���������]�2¦C�-� �����·�)�2¦j�y�����-���������=�=¢��£ÞO�~���y���y�������y�6���)�·�=���=�~�)����ß��~���B���=�O�2¦¥�B�b���^Ö¥×;¢����~�
�0���y���B���=� �����O�=�O�����~�0���~��� �~� �������b�~����ÆÐ�����m� ¡ ���>�2¦´�-�����'���~�y���=�@�y���yÆV�'����� ¡ ���B¨vÑÒ�@���~�'º´����³f¢;���������y�y�����'���~� ¡ �������2¦£�����
�y��� � �=���=��¦ª�^� ���O�������������=�O���~�)������� ¡ �y�������������������$�y���B�������=��� ¡ �=�y�)�~�]�·�B�]���y�0�?º��B���~���~���>�����y������������� ����� �y���)È��Í�2¦v���@���y�
�y�~�y���m�2�m���~�����y�¥���~� µ·���O�-�=����������¦y¹¤º��=�����������������v���o�y�����B����� ¡ �=�~�?º´���B�y��¨������ ���C�������~�=�v�=������������¢����~���'���y�=���;³o����� ¡ ���B�m�y���=º����

(�) ðdø ömõÇòÇþÊù��?ü ömõ �l_Hô:ömõVô#ömû?üÊô#òÇñ$þÊð)òVô2õÇø?õVôÒòHù2ü öm÷V÷ ��ô
*?ð?þ òVþÊñ�ð�÷H÷Vñ|òVó ö�ò�þÊð�ó?ô2õVþ òVömð?ù2ôEömð
� � �=ð ömýoþÊù
û?þÊð �?þÊð

�ömõVô8ó ömð
�?üÊô��bùOñ�õÇõVô2ùÒòVü � �=òVó?ñ�� 
�ó _Hô$_8þÊüÊü ð?ñmò 
�þ ÿ)ôòÇó?ô �?ôÒòVömþÊüÊ÷#ó�ôOõÇô��
+ Q#ú�òVó?ô8÷ÇòVömð
� ömõ �oú�ôOö�ò �?õVô2÷4ñmú&Q�Qjü ömð

�� ö�
�ô2÷ �=þ ò4÷ÇôOô2ýo÷yòVó?ö�òHñ�ð?ü �-,/.1032547698:6<;>=@?1A 0B47C;ø�ñ�÷Vô2÷4ø?õÇñ�û?üÊô2ýo÷�ú�ñ�õ-ñ��?õ�ýoñ���ôOüÊ÷���D�ó?ô2õVô#ömõVô�ÿ�ömõÇþÊñ��?÷4÷VüÊþ�
�ó)òÇü �$ýoô2÷V÷ �

_Hö��=÷8þÊð _8ó?þÊùÐó�_4ôEù�ömð�ù2þÊõVù��?ý�ÿ)ô2ð)ò�òVó?þÊ÷�ø?õÇñ�û?üÊô2ýÎþ ú8_Hô:ömõVô �?ð ömû�üÊô|òÇñ-* ð �¤ömð�ô2üÊô�
)ömð)ò
÷Çñ�ü���òVþÊñ�ð �

E



�~���O����¦ ¡ ¦ ���y���¶���)�����~� �M³$���������y�=�����B�y���~�����~�������y�B�~���B�b�������~�~�>���������y�=� ��������������¦ �������B���C�$�O�����~�����y���B¢ ¡ ���M³���³o�����H�����O���~�?¦
�)���B���f� �������C�����B�6��� ���y������� �y�����)���2¦>���:�=�B�m�������~�O�����~���d���~�>����¿��=���y���y�]���y�f�´�y� ¡ �=�o���
�y����� �Í����ºB���)�B�~�)�=�����$���>�'� ���y�����y�j¨

% Ë �]³o�����:�¶�?º����~�b���y� �~�O�]���$º��=��¦0�O�������y���2¦´�y���~��³o�y�=���=º��=���-�B���O� ¡ ����¨]©;¦´�-�=�¤�����]��³M�?¦�������È´�~�����������~���)�=�O�m�������y�����-���������=������y�����B����� �=¢����~��³$�¤�O�������~����¦ ¡ �=������ºB�����~���o���y�f�����m�~���M���~�¤�2¦C�-����¦´�O���=�äµ·�V¨ ��¨y���y�f� �����¤�y���B���m��� �y�����-���������=�M���d���~�=���~���y��� ���=�m¹�¢
���~���=�B�O�����M���y�f���B�O¿����:�y�������m��� º���������������������³o���������y��� ¡ �=����� ��¨ � �E�����y�m����¢y� �����m�y�=�o�2¦´������¦��2�����n³o�����H�2¦´�y����������¦���������� �=���
����� �f� �������2¦´�-� ���y�y����� �����B�~�������'�y���)����������¦j���§�y�������m�������4�y� ³��=º��=�=¢H�����~��� ���y����� �y�~�B�O���¤�����B������¦´���y�������y��� º´����� �O�y�~���B�O�
�·����º��=������� ¡ ���'�y�������m�����=¢~³$��³o����� ¡ �'³o���������y�������B���������¤�O�B�]�]���y�y�Í�����B�~���:º��=� ¡ �B�����2¦����¥���y�'�����~���~������¨ � �y�¤�2�����������B¦�³o����� ¡ �
���>�O�����O�o³o�����0���j��È´�~�����)������¦��2¦´�����jº��=�������B�6���8���~�������y���������B¢����~�6���y�=�¥������� ³J���y�f�y�����B����� �]�=�$��� ��� ���b�)�����������������·������� �������
³o�y�=���¤³$�¤�����f�B�y�-�������y�y�������=�$�·�B�M�2¦´���f�����·���������)��¨

% Ë �$³o�����´����¦¤���¤�2�m�?¦��)���B���;���b���y�o�O¦´�C����È¤������È´���O�����y�������~���~�����=�#�O���m�]�B�#íC�?º �y¢�ÃC�m���~�y�����'Ö¥×����~� � Å$�bÖ¥×�³o�y�=���=º����
�-�B���O� ¡ ����¨©M�y���o³o�����H�¶�B�)�����������������~�f���������y���~�]���#�B�y�o�����y���������¤�����>���y�¤���y�¤�m����¿>���:�-���������y� �)È����O�����y� �y�����B����� �;�·�����¸���y�=���¤�����y������������¨
©M�~�'�·�B����� ³o���y�j�����2�f���;�·�=�����y���=�¤�B��ºB�=�¤�����B�y���^���������=� �����B�^���$³o�~���f³�� �)È��-�=�)�¤�B�y�f�����y�B�~���B�����j�����C�������8¨�µ " � ³$��º��=�=¢H³$� �~�?º��

������������¦����y���C�����~�=�'�����´¦¤³$�?¦��#���'³o�y���m�]����� �;���y���~�=���;�·��� ���~�����
�����y��� ¡ �$�]�=���B�=�H¢�����³����)È��������:���~���=º����C���~���C�·�����Ì���~���y�$�����y���������
��� ¡ ���������y���������C����¦6�O�����������$�����������y���o�����O�d� ���B�C�o���y�B���=�O�=¨Ê¹

% �ç�����-�������B���������|�y����ÆÐ���y��� ¡ �����~� �����2¦´�����b����� �������b�������y�C�O�'���E�·�y���������������:Ö¥×|¢-�����)���~�����y�6���~���~�)����º����2¦C�-�=�������0�y�����y�=�OÆÐ���m������2¦´������¨;Å��=�O�m�����������������$#����]�~�O���|���H�O�������b���~����È������������B�~�E³o�����4������� ¡ �����=��� ���O��������� ���y���y����ÆÐ���y��� ¡ ���o�·�m���B� ���C�bµÝ���y�����������C�����
� ���������~��� º´�����=�$���~���y���~�)�f�B�$��� ³o�~� �o���y�����~�y���B�y���������¤�O¦´�C���B�������¤�)�B�~�2���������C�m�$���y�B�y��� ¡ ��¹�¨

% ©M�y�f�~���~�����)�����2�����~�)���M���
���0�b���B����ÆV����¿B����� ���=��������º��¤�����y�B�~���B��³o����� ¡ �����m¿6�2�����������~�����o���~������È����=�������)���~���y��¨
% �d�§� ¡ å2�=������¦��2������³o�����v�)�������O����¢4���C�������¶�����=�=¢��O���y�B��� ���y�y�������������)� ���~�§��¦´�~��� ��� ¡ ���~�y���y��¢8����� ���������������~���¤���$íC�?º �y¢ ¡ ���f³o������j� �����>�)�B�~�O���O�����C����¦^�y���B�y����ÆÐ���m�������m�~�����B�����������~���£íB�?º ��������º��=� � Å$�bÖ¥×;¨ Ø �B���)Èy���]�~���B¢
�����~�����y�����0� �)���y���v���´ºB�´�=� �����B�
�)È��y���=�������B��� ��� � ��� ¢´³o�y�����������o�]�����������o� ¡ å2�����=¢ � �]�]�����y���0���~� � �]�~���m��� �)������¨:ÑÒ�jíC�?º �'���y���o�)È��y���=�������B�����o� ³o�~���������d�º �����y��¢ ¡ �������0�B�y�d�����y�B�~���B��³$�����������)È��������	� ��� ¢ � � �
� ���~� � ��� ¡ �f�~�m�2��ÆÐ�����B���Mº �����y���d���:����� ���y�����~���o�2¦´�-��¨MÖ0������� ºB����¢�³���)È��-�=�)����� ¡ �]� ¡ �����������y�·���m�)���2¦´�-�]�y���O�����~�������B�~� ¡ ���2³��=���^�����m� ¡ ���]���~�0�y�B��ÆÐ�����m� ¡ ����º �����y�������E���y���O�]¿´�����y�G�d�·���¤�����2�m���~����¢
�£� �����y���J�=����� � � �
� ¢o³o�y�����2���Í��³o�����b�2¦´�y����������¦ ¡ �§���y�~�����=�ê���Ï�ª�'����� ¡ ����� ¡ å2�=������¢o�]�����C�§ÛÝÜ¶²�±�¬ é ¡ �^�������y�=���'����� ¡ ��������y�B��ÆV�'����� ¡ ����¢��������y�������~�������~���d�Í�m� ¡ �=�~�?º´���B�y�M���?¦>���o���?¦>�y���d�����-���~���B�j�O�������¤�����y���M���~�������y�f���C�������~�����O�������¤������¨

% �ã��� ³$�����·�y�~�-����¦´� �����y�y���M�2¦´�����O¦��O�����j¢´���~�)�B���-���m� �����y� ¡ ���$�B�����y��³$����� ¡ ��¦B���~� ���y�¤�O¦��O����� �����B���y�=�����M�2¦´�-�=�$�)�y�����=�C����¦ ¡ �����y����~���=�¥���jíB�?º �y¨ Ø ���¤���~�2�m���~����¢H³$�]�=����¢4����³$�'³o������¢�������� ³ç�2¦C�-�=����� ¡ � �~�����O���¥�����~������� �)���=�����������vÃ´¦��O���=� � ��� ������� º��=�=¢
���~�m�������m��� �)�����m�$�����y��� ¡ �������~�O���m�����y������� ¡ ����� ¡ �2¦´�����M���:�)È����2�����y�]�2¦´�-�=�o���M���0Â|�����m�)�BÀ ����
�¨

% Ö¥×�ÆÐ�O�2¦´���¥��� �O������� ��� ���m�~���y�@���ê�·�y�����������ã���~�ê� �)���y���J�����)�����m� ����������¢M�-�����~���~�6���y�B�]�=�C���=� ¡ ¦ê�����·å2�y��������º��^�~� �����=���~�����~��������m���=���~� �����=���~�o�B�M��� � Å$��Ö¥×|¨
% �d���)Èy�)�=���������¥� ���m�~���y�����n����� �������d���>����� �����;íB�?º �~¢~³o�y�=���������m�0� �)���y���¥�B�d�·�y�~�)�������¥�����)È��y�������Í����¦0���~�y���m� �����j³o�Í���0���~�]���)����:�)Èy�����������B�~�M�Í�b�����y�������j�y�������)���y���¤���y��� ³f¨:©M�~���o���y�y���B���m�6��� �)Èy�����������B�~�$�y���d���j³$�����H³o�Í�����B�y�d���������C������� �´�y���V¨
% �J� �����y������¦��2�����Õ����� ��³o�~������¿´��� �������~��������Ö¥×Ïµ·���~�)���~�����y�'�y���B�y����ÆÐ���m�����E�·�~�~�������m��¹)¨
ÑÐ�$�����)���=������¦'�-�B����� ¡ ���o�����~���o���~���)���������¦´�O���=� ���o� � �����y���f�O¦��O���=�¸��������� �¤�)È´���=�C�=¢~���Í���y���y�B�6���y�����¤���?¦ ¡ �������B�y� ���C���$�����¶�?º����~�$���:� �����~����������� �´�y�y������¦��2�����j¨
" � ³��=º��=�=¢��B�y�|�����y�B�~���B�o³o�����~�~���;���~�)���~���d���y���=�B�y�E���$���´¦��·�B��� ���������~���y���������)¦�¢B�O���~�)�b���y�|�C��� �o� ���������|�=� ¡ �´�y¦]�������y�~�������C����¦

�O��èB�~���C�������´�y�������������-����� �y���m� �������8¨ Ë �M³o�������y��� ¡ � ¡ ��¦����������y���|� �����=�]�y�
���¤���~����������Ù�±Ò»y±�®-ÙB±)®�Ü#Ü2��»y±)²�¢��=º��������y�B�y���]���~�
� �����=�y���´�=�
�O�y�~���B�O�d���y��� �����j���y�=¦�³$���~���0�������������y��¦ ¡ ���������=�)�B����³o�Í���¥���~�b� ¡ å2�=������ºB�=�=¢~�����~�������y���b³��B�y���j�y��� ¡ � ¡ ��¦����C���������~�����)�B�~�O�����=��� ¡ ���
���y�����������������)�B� �y����������������³o�Í���j�����O�����f�y� ºB���H�)�B�C����� ¡ �y�����������j���y�o�������=¨ �
Ø ���;���´¦��)���Í�����=���~�y�=�����B� �y�=�)�������B�~�E³$�o���~�����y�C���=�=¢�³��o³o�����-�)�B�~�O�~�Í�|³o�����>���������������~�=�:��� × Ø ÅMÃ]³o�y�������o�������)���������O���|��� �2¦´�-�M���y�=����¦�¢

�����y���~�����������O������¢:�����y�B�~���B����� �y����� �=�B�m� �����B�£���~�ª�����Ý�2³M���������y�B���~���������y�~¨jÑÒ�ª������� �����d�)�B�~�)���)���6���=����º��=��� ¡ ������¢8���y���'�y�~�����>���$���y�
�y����å2�=�)�
³o���������=���y���E��� ���·����� �����O¦´�C����È��·���:���~�
�����~���~������¢��¤����� �y���)���o���)�E�����2¦´�y���~�����y���=�=¢����~�]�¤�����~�������������~�����O�=� ���C�������E�������)���·¦C���y�
���y����¦´�~��� ��� ¡ ���~�?º´�����y�M���:�y�����B����� �=¨

�-� �! �� �V# �!'8*-,/14)7' �V'�)56 '��@,�19%('�*�,/.�:-# % '�)+*�,�.�:
Ã´�����)�$���y�:�����y�B�~���B�|���#��� ¡ �$���~���y������� ¡ ¦����~���������)�y�����:���������C�������
� �������V¢ ���:���
�~� ���y�m���C���������
�·���E�����)���y�Í�����B� ¡ �����=�f�B�'���=�y���m� �����������
�O�=� ���C�������=¨ " � ³$��ºB����¢?��� ���m���=�8�����B��ºB�o�O�B�]�$���~�O�����C�E���B���¤�y� ³Ï�������]�~���=�]�=�C��� �����B� �]�����C�E³$����¿-¢ ³$�$³o�����~���������y��� º´���y�$���'��èB�~��º �������C�
���-���m� �����������H�O�=�����C�������=¢y���~����å2�~�O�����������������j���#���y�f��èB�~��º ���������)��¨ �
ÑÒ�Ï���m���������§�O�y�~���B�O� º��=�����������������ª���d�y���B���m���������£�B�y�'�����~���~������¢:���]���]���=�����m� ¡ ���6�����~��� º´���������y���B���m��� ���B�����>��� � È�������� �����

�O�=� ���C�������=¨ Ë � ¡ �������=º��j����� �>���>³o�����d�y��� ¡ �0���C�ª���3&>�)�y���>���v�y�v���y��� ¡ �B�O���@�B�@���y�¥�����~�������������~���d�O�=�����C�������=¢����O���y�§���y�0���������
��� ô2ø�ô2ð
�?ô2ð�òÇü �bò ��ø�ô��¤ø?õÇñ�
�õÐömýoýoþÊð

|ü ömð

�� ö�
�ô2÷#ùOñ�ð�÷ÇòÇþ ò	��òÇô�ö$ýdö��¶ñ�õHõVô2÷VôOömõVùVó¤ömõVôOö$þÊðdòÇó?ô2ýo÷Vô2ü ÿ)ô2÷ �¸÷Çô2ôEô � 

� h jlk �
����ô
û�ô2üÊþÊôÒÿ)ô#òÇó ö�òH÷ÇòVömð
� ömõ �bòÇô2ùÐó?ð?þ�� �?ô2÷�_8þÊüÊü ÷	���où2ô�ú�ñ�õ�òVó?þÊ÷����=þÊð?ù2ô#òÇó?ô:ü ömð 
�� ö�
�ô7_8þÊüÊü û�ô#ú�ömþÊõVü ��ü ömõ	
�ô��l_Hô
ýdö��Mù2ñ�ð)òVô2ð)ò�ñ��?õV÷ÇôOü ÿ)ô2÷+_8þ òÇódö;ø?õÇñ=ñmúCñ���òÇüÊþÊð?ôù2ñ�ð?ù2ô2ð)òVõVö�òVþÊð

dñ�ðbòVó?ôEþÊð)òÇôOõÇô2÷ÇòÇþÊð

oùOöm÷Vô2÷#õVö�òVó�ôOõ�òÇó ömð¤ö$ù2ñ�ýoø?üÊôÒòÇôEõVþ�
�ñ�õÇñ��?÷�ø?õVñ�ñmú �

�



���~�v� �)���y���y�f���~� �]³��������>�)�y�����=�C����¦^���~�y��¦´���y�0���¥�y�������m���ä���B�������¤�·�B���·�m����� �=�B�m�f���bÃC�m���~�~���m�ªÖ¥×|¨ Ë �6³o�����$���-���~�ª����� ������� �
���´º����2�����C� �����y�>���´¦6�~���O�������y�������m�~���������~���=�d���C�O��� ¡ ¦j�B�y�b�����y�B�~���B�f���0�B���y���d���6�������=���M���y���·�=�B�O� ¡ �������2¦j���:���y�������y�y���B�B�m��¢ ¡ �y��³$�����
�y���o�)È��-�=�)�o���>���=º������������)�B�]�~�������¤�y�������m���Õ�����B���������·�~���8�y�)�������V¨

���  � )5,/%('�*�,/14) '�)76 ���!19*�19* ���V#M,/% � �/#&%(#&)+*-'8*�,�19)
�d�����C���=�����2�����~�'�����-�=���o���8�B���]�¤���������C�������$�������~���=¢����������C���m���O�����'�����C¦������y�=�M¿C���~�y�$���
���=�y���m� �����������H�O�=�����C�������=¢´�Í�o���¤± �´±mâ)°�ÜÒ­���¬�±��
���y�>���=�y���m� �����B�^���M���y�����B�����"³o����� ¡ �>�0�2�����������B¦0���o�O�B� �]¿´���~�§³o�y���m�v�=��� ¡ �ªÞO�y���?¦����yß6�B�f�)È��=�����������B�ª�����B�m�y���~��¨ Ë �>�~�?º��
������������¦ ����ºB�������-�=�����£Þ���� �y����� ���C�m� ��������ß�����Ö¥×��b���8���~�b=yÆÒ������� ¡ ���B�
C@���~� D�¢y�����6���y� ³o�>�y� ³ê���y���o�=��� ¡ �¤�~���=�6�B���'³$����¿ ¡ �����m�
�·���o�B��� �¤���������B�����=�M�������y���)�B�B���)È´�o���EÖ¥×v�y�����B����� �=¨:©M�y���d�y���B���m���j¢C¿C�~� ³o���B�bÃC���m� �m���B���j¢´���d�?º ������� ¡ �����·���B�¸���~���������y����À �M³$� ¡
�~���B�������B�y� ³o�Í������Èy��� �y���=�M�������~�O���m� �����y� �����M�~����¨
©M�~�����=�y���m� �����B�~���o���������C���������·��� �B�y�'�����~���~�����>³o�����o���������C����������¦ª���)�~�~�����·�y�~�)�������Ï�·���B� �y���B���m�����¤���§�O���m� ���������=�=¢E³o�����Î���y�

���~�y�~������ºB���)�����~���0�-������¦´�C�����)�����¥�)�B�~�O�����~���>���f���y�¥�����~���~������¨ Ë �������ê���y�=�����·�����¥�������=�)����¦Ï���=�=���O�6�O���m�J�£���)���y�Í�����B�J������� Ö¥×
�·�y�~�������B�0�·����� � ¡ �O���m���)�b�O¦´�C����È������=�=�o���>�)È����)���m� ¡ �����O���m� ���=�����=�=¢~³o�����¥�B�y��Ö¥×@�)�����~�����-���¤�O¦´�C���B�������f�)�B�~�O�����~����¢-���~�����´�~��� ¡ �m������¢
�����]�C�2�o�·�B�d�·�����B¢-���~���������2¦´�-�����]�~���=�]�=�C��� �����B�¥���6Þ����~����� �����B�~ß ���E���y�������~���~������¨o©M�y���d��� �y����� ���C�����������¥³o�����#�y��� ¡ ���~���O�������y��������¦
� &>�)�����C�=¢ ¡ ���f� ���������O������³o�����:������� ³s�~�]µ¶���~�0�����y�=���m¹$�������������·�=���#�·���d���y�]�����y���~���������~�j�)È��-������� ���C��³o�Í���¥���~���)Ô4�=�)�������|º ���������~�
�m�y�����)����¢~���o���y�'�)�B�O�d���EºB����¦6���Í����������� �y����� �=�B�m� �����B�0�)Ô4�����=¨$ÑÐ�b³o�����#������������� ¡ ���f�~�o�����)È��y�������f���C����� ¡ ���f�~���B���m��� � ���y� �����������M����� �
� ��¿����~���f���8���y�f�y� ºB���4�·�=�����y���=�M³$�¤�~�?º������B�����������)�=�����C���]���y�f�����~���~������¨
Ë ��³o�����;�y��º����������~�����f���$���y���~����å2�=���¤���j�y��º��=���B�y���y�0���~�^�)È��-������� ���C�����y�0³o�����ª���§���y�������������§���$���y�������y�B�~���B�'���§���y���f³M�?¦�¨

©M�y���M³$����¿�³o�����8������� �~�?º��¤���y���yÆV��Ô4�$�·�B�o���:�����~���o�~���=�M���#���y��ÃC���m� �m�����=� ��¦´�O���=�äµ·�B¨ ��¨y�)È����)�������B�6�����B�)���y�]�·���dÖ¥×
¹�¨
ÑÒ�����y�������y�B���M���=���j¢~� ��� ���~���������C���4³��B�y��� ¡ �f��� ¡ �y�����0� �)�B� �y�������d�·���d�B�y�o�����y���������B¢y�)�B�]�~�������~�>��� ³o�6���>�O�B� �f���C���=��� �����������

�����y���~���������~�m���B��í���Öª¨ Ë �]�����y���¤�)È��-�=�)�b�����~�?º�������� �����j�)�B� �y�������'��º��=���>�~���������2¦´�-���)�B� �y��������³o�����y���¥���y�]���y�����=�B���y����å2�=�)�=¢
¡ ���o³����y�B�����������=� ���~�O���m� ���b���y���·�=����� ¡ �������2¦>���#���~�m�j�����y�~���=�O�m��¿´���~� ¡ ¦>³o���Í�����~�]���������ÍÆÒ���=����������� �y�����=�����·���o�����������)�y�����M�O� ¡ �O�����M���
���y�f�����y�B�~���B�d���~� �d�m�����O�¤���C�������=�O�����y� ���]�~���=�]�=�C��� �����B�������O�y����¨

� �~�0��� �-���������C�6èC�y���2�����B�Î����³o�y�����y�=�>³$�¥������� ³à���y�¥�y�=�����B�Î�����B�y�>�����y�B�~���B����� ¡ ���)�B�~�2���������~�=� ¡ ¦Î���´¦£�~���O�������y����� �������B�)�
���C���=��� �����������f�����y�B�~���B��³$���~�?ºB�¤���0� ���~�H¨MÁEÈ����=���������)�¤³o�Í���y���0���y��Ö¥� ¡ �����'Äo�=�����y�m�)�����~�������C�������M�y����å2�=�)�b� �bÁ������ ¡ �~���B�>�<	�
�µÇ���~�
�����O�����y�¤Ö¥×�å$�y����å2�=�)�[�<	�
·¹|�~�B�M�O�y� ³o�6���~���M������������������º �����)�=�>�����y���~�����b�·�=� ���y���=�M�O���m�����$Ö¥×^�·�y�~�)���B���$���]�y���d���y�]���o�)��� �y����� �������
����í���Ö����£�0�~�����y�m����³$�?¦B¢#�����v�����~�������C���=��� �=�y�������>�����y�B�~���B�=�¤���£�)�y�������C���~���6����������¿B����¦����¥���C�O���O��� ���������~��� ¡ ���=����¨0©M�y�=���>���
�6�����~�������v�y��������������������¦��Í�M³��>�=���v�)�B�]�~����� ���¥í���Ö ���~���ª�j�����=���f�y�=���E���$��È����O�����y�0�����·���B�2�����������~��� ³o����� ¡ �>�?º ������� ¡ ���'���0�~�>µ¶��¨ �~¨
�y���B���m�������������y�o�����~���~�����¤�������y��� ¡ � ¡ ��¦�� ��¿��¤�~���¤���#��È����O�����y��íB�?º �]�bÂ;Ñ2��¹)¢~���~�6���~���o³$���~�������~�����y�m���B�d���y�f�~�������
�B�y�M�����y���������
���~�j�y����� �����f³o������������������� ����� �������0���|���y�b���������=¨ � �j���y�'�����y�����~���~��¢~���y�'���y�������b���:���y���y����å2�����b���o���>�)È��y�������������=�B�d���0�����y���������
���=�����B���·�B�f���~�����B�y��ÆV���=���"�·�y���y����¢:���~�v�����������0���)�f���~�6���=�������v���M���y�f�����~���~����� ¡ �6�y����º��=� ¡ ¦¥���y�>��� ���y�������������f�m� ���y���¤���~��� ¡ ¦
�]�B���f�B���)�����=�B�m�����~��������� �����f�����~�������~��¨�ÑÒ�����y���d�y����å2�����d³$��³o�����#�����o�·�B�o���y���y�y���Í�2¦j���~�������=���������à���#���y����� �����������y�y���B�B�m�@�E³$�f³o�����
�y���b���~�����O�d���~� �b�B�y�d�����y�B�~���B� ¡ ���~� ���y��������¦������ �y����� ¡ ���f���6���´¦6�)È����2�����~�����C���=��� �����������������~���~������µÝ���y���y�B������� ¡ �O�����C�������#��� ¡ ���)�b���
�Í���y��� ¡ � ¡ ��¦�³o����� ¡ ��¹)¨ Ë ��³o�����V¢-�y� ³��=º��=�=¢~�y��º������������ �f����� �'���6�>�y���=����� ��������¦����´º��=�O�����B���������j���|³o��� �b�y�=�=�y�b��� ¡ � �����~���������m�����
�����O�~�y���B�O�o� &������=�C�d��� �y����� ���C�m� ���������o���
���y�o�����y�B�~���B��¨

� '�)��
1
	B#!� '�)56�	B1 �
� � �/'�)
�d���
���������d���|���~�'�y����å2������³o����� ¡ � �O�y�-����º´�����=� ¡ ¦0×8���y�B���=¦�¢4³o�y�6³o�����:�����C����� ¡ �����]�����?ºB���m���B�f���E�~ºB���y�B�y�����>³$���=¿����>���y�]�y����å2�=�)�=¨
ÑÐ�������)È����������=�0���~� �¤�y� ³o�����E�)�B�C����� ¡ �y���'�B������ºB����¦j���6��������Ñd���|���~�'�y����å2�����¤���^�~���������)�~�����=¨f©M�y� �)�B���'���|���y�'�~����å2�=����¢H�)�����O���2�����~�����
�~�������oÑ�¢�ÑOÑo�����jÑOÑOÑ�¢-³o����� ¡ �'�y�~���=�O�m��¿��=� ¡ ¦����~��Â|��� �2���~���=�B��¢~³$����¿´���y� �·�~����ÆÇ����� ���·���o���y���=��¦������m��¨$©M�y�'�O���������C�b³o�����
�����O�>�y��º������
�O�B�]�������]�����>�������bÑ���¢ ¡ ����³���³o�����#�=�]�~��� ¦j�����=���=���m�m�0�����O���O�����C�o�·�B� � ¦B�=���d��� ¡ �=���d���y� ¡ ���y�C�����
���y����� �y����� ���C�����������¥��Ô-�B�O�����
���y���M�~�����M���8���y�f�y����å2�����=¨oµÇ©M�y���o�����y��� ¡ �f���B�y� ¡ ¦>�]���=�����C�$�B���B���~������³o�Í���y�����o���=���=�����m�>��È����=�������~��� ¡ ���d³o�Í���0�O�B�]��¿´�y� ³o���=���B�����
�·����� ���H�O�=� ���C�������$�·�����Õ���y�����d�y�~�y�������m�����~�����¤�)�B�y������¨Ê¹ � ��Ã8JæÖ ��� Ñ Jf�s�bë � � © �b×#×v© " ÑOÃ4¨ 


���)�m�������d���8���y�¤����� �=���������¤�·�B�M���y�fº ���������~�$�y�~�B�O���M���#���y�f�y����å2�����d�����¤����º��=�����6���y�����=�)�B�]�����´¦´���y�����������m��� ��� ����� Ë �B��¿´�y������¨

�Ïr�� �$�`���:u:��w+� ��}��A�8� ����w��2u:{��`���
Ë �f��È´�-�=�)�o���y�o³$����¿ �����~�?ºB�����j��� �~�B���o�������y���=�f�������������������
 
'�)��935'��4#M65# :-,��4)V Á|ºB���¥����³$�]�y���������=���y���·�y�O���y���¤³o�����^���y�����=º��=���B�y� ���C�����;���~�������~���~������¢-���~��³$����¿j³o�����E�~�?ºB�'�)�B�C����� ¡ �y���=�

����� �E���~�y� º � ����º��E���������H�B���~���B���m��� � ���y�M�����y�B�~���B�E���=�����B��¢��~���������)�y��������¦d���=�B���������y�M�y�����y�=�OÆÐ���m���=�4���~�����B��¦´� �����y�y���:�)È´�����~�����B�~�
���|� ¡ å2�=�)�OÆÐ�������=�C���=���·��� ���~������¢-���~�j���y���=���·���m�)�=� ���C�b���:�2¦´�-�'�����2����������������� ¡ �)�2³$���=�0�y����ÆÐ���y��� ¡ �������~�£µ¶���������C����������¦y¹o���y��� ¡ ���
�y�����y¨ " ���O������¦^���y� ³d�����~� ���������������ª�����y�B�~���B� �y�=�����B�v�y��º��=���B�����§³o�Í���y���ª� �B��� ���y���B���������������)��� �'�y�y�������=���=���ª�����ª���j�~�~�
���~�����|³$�?¦f���C���f�������~�O�����=���Z�)�B�]�~�������y�¤�y�m������������Ó ³o�Í���y�=���:���y�o���yì~�y�����)�o���HÖ¥×����]���y�d���=�������]���HíB�?º �]µ·��¨ �~¨����y�o��È������������B�~�
� �=�m�~���y���O�>¹�¢?�B�H���y�$�)�y�������C�8���~�)�B���-���m� �����B�����C���bíC�?º �M���´���y�$�O¦��O���=�ã���´�B���y�=�����:�2¦´�-�=���~���B���C�O��� ¡ ¦¤� ¡ �B���´���~� Ë ����������¨8ÑÒ�¤���y�

! Q��?õ�þÊýoø?üÊô2ýoô2ð�òVö�òÇþÊñ�ðbõÇô����?þÊõÇô2÷#"[Z�ñmú�$#ôK_&%�ô2õV÷Vô �b÷VþÊð�ùOôEþ ò�ýdö���ô2÷8ô2÷V÷Vô2ð)òVþ ömü��?÷VôEñmúyù2ñ�ð)òVþÊð � ö�òÇþÊñ�ð?÷ �

'



�����y�¤��������¢C�O���m� �y��º��=���B�y� ���C���|���������y�B�~���B�$�y�=�����B�jµ¶�~���������)�~��������¦����y�B���o���=���������y�����f�2¦´�-�d�O¦��O���=� �m¹
����¿B�M�·���;�f���������y�=�=¢�� �B���
�����������~�����y�=�§���~�y���C���m�0���j�y���B���m��� � ���~�~¢H���~�^�y�=�~�)� �y��������� ���=��¦¥�·���f� �����'��� ¡ �~�2��¢H���=����� ¡ ���������Ý�2³M������¨ Ø �y�O���y����� ������¢��O�������y�
�2¦´���¤��¦´�O���=��������¿��b� �B���������·�B�������������6�?º ������� ¡ ���d���]�'�)��� �y�������o���~�6�����)���=�����o���y�¤���y�-�������y�~�Í�������|�·�B�$�~���B���m��� ��������� �$#=� �����B�@�
³$��³$���~�����)�=�O�m�����y��¦6�)È��������d�B�y�o�����m� ¡ ���������6�y�B��ÆÐ�����m� ¡ �����2¦C�-�=�o��� ¡ �f���
º �����y�¤�y�=���B¨

� � 1 � � ' %��9#!�!,  T.�'�*�,/14)V ©M�y�'�y��� ¡ �����à���E���=�~���=�����y� �·�=�B�O� ¡ ���f���~��º��=�������=� �������j���:���=�������O�����¤�y���B���m�����M�����������~�d���´�y�B���m�~���������y�B��¢
�����j���¥�B�y�bº´����³s���~����� �-���������B���2�����j��� ³M���m�y�d�B�m�y����º´���~���Í�����d�����O�����O�d³o�����^����� ���~����� �����=������¦j�)���=���0�����y���~�����¤���~� �b�������y�
�����������~�����y�����B�����ãºB�����Í���=� �����B��¨8Äo���)���C�E�y�����B�������8���]�O�=� ���C�������#�~���:���y� ³o�����~� �:º��=��¦f��� ¡ �O�����C�������
Þ������·�|�·�m���B�]�=�C����ßd�����)È����O�����y�
�����y�B�~���B�=�f�������O�~�Í�m� ¡ ��� �·���f���y�����y�y���-�B����¢ ¡ �������~������������� �=³o�~� ����� �����O�¶���)������¦��B�¤���y�=���������������~�f�j³$������¦�� ¡ �������~� ³ ��� �·�
�y�����B����� ��³o����� ¡ �����?º�� ���§���B�����m���)�������§³o�Í���§�~�~�����·� ���y����¨ � �y�f�y����å2�����¤³o�����V¢8�-�����~���~���·�B�¤���y� �����O�¤�����]�B¢
�y��� ���~�O���m� �������y�
º´��� ¡ �������2¦¤���y�d���=�������2�����|�y���B���m��� � ���~�$�����~���~����� ¡ �B�O���f���C����������¦��B��³��=����ÆÐ�y�~���=���O���´���¤�O�=� ���C�����|�y�������)���y�����G� ³$�|³o�����´�������d���b����� �
³M�?¦����>�~��� º´�������~� � �~���B���m���Õ�����������·���o���y�������y�B�~���B��¨ Ë �f���y�����)�·�B��� ¡ �������=º��f���~�d�����y���������¤³o�����8��Ô4���b�����y����� ¡ ���¤�·�m��� ��³$����¿
�·�����·�y�O���y���'�����O�����m�m�����ª�y�������m���äº���������������������¨>ÑÒ�v�������������M���=���=���m�m�§��� �~�B���=¢
� �B�O�����M���~��� ¡ �=�y�)�y�'³o����� ¡ �>���=�����$#��=�§�=º����
���$³$�����j�y�������=º��������§���·�y����ÆÒ���=�����]��� �y����� ���C�����������êµ·�'�~�m�^º �����~� ¡ ���]���=���=�����m�����^���y�����������6�~�B� ¡ �=��� ¡ �����=�����^���y�=�����)�����=���
�����y�B�~���B�=�b���~�����y�j�B�y�'��������� �y����� �=�B���=�~¹)¨ " � ³��=º�����¢-³����������6�y�B���'���~���=¢�������� �y����� ���C�����H¢��B�y�¤�����y���~�����'�]�����C�f���)���~������¦
¡ �=�)�B� �¤���y�f� �=�y���y� �·���d��� ¡ �O�����B�������4�·���������������Ý�2³M���������=º��=���B�y� ���C�o�y����å2�=�)���$�������y�¤�·�����~���B¨

� � 1 � � ' %(%(,/)�� '���� �/,�.�'8*-,/14)7:� �Ø ���~������¦B¢4�Í�|³$���=º����C���~������¦j�����)���������>�y���´�������0³o�Í������� �����'�����������~�o��� �y����� ���C�����������¥���|���y��������Æ
���������B¢�³$�¥�����j�y���-�)�·�~�d����� �>���6³o�����d�y��� º��0���O���m���)����º������ª�����C¦Ï�y�������m��� � ���m�]���>�ª�O�������)ÆÐ���ÝÆV���~�)ÆÒ�����]�����y�B�~���B� ¡ �����=�Î���
���~�������)�����=������¦]�O�B�y�~�]�y�������)���y������¢B���~�m���B�|Ö¥×j�~�B� ¡ �=��� �·�B�E���y�b�~���O�;�)�B�y�y���o�������=�=��������¨Mµ·ÑÒ���������H¢B�B�y�E�����=�B�E�~�?º�� ¡ ���=������ì���Æ
�����)�=����� ����� �¤�)È´�����C� ¡ ¦6���y�o� ³o��º´���=³d�M���8���y���������M���#�����y�B�~���B��³$�¤³��B�y���6� �B�O�o����¿��������~�O�B¢ ¡ �����=���������~�o�y���B���m��� � ���~�
�)È��-�������=�~�)�]���§íC�?º �����~��Ö¥×;¨ ¹�×8��¿B�]Ö¥×;¢H���y�¤�����y�B�~���B��³o����� ¡ � ³��=���|���y�������¥���6�¶�B�2�f�y���������2¦´�y���y�6�������=���=���m�m�¥���~�y���������������~�=¢
�������)�B�y���0��� å2� ¦0����� �]���=º����
�����~�O�'�����������m�y���y�~¨ Ø �y�O���y����� ������¢-³��]�)È��-�=�)�����~� �f�)�=�O�m�����0�¶��� �����������y�������m��� � ���y� ���B�O¿���³o�����
¡ �=�)�B� �]����� �y�������������~�������y�B�~���B���M�·�B�����~�O�������)��¢H������������������� � ���¥�y�����B����� �]���y�>���������������§íB�?º �6���~�m���B�d�¶�B��������¦�¢4�����O�����~���
������º´���O�����B�M�~� ���������~�o�����y��� ¡ �f� �����¤�~� ���y�m������¦���È´�~���������=���~�����y� �y�����~����ÆV�B�����=�$�����~�O�����~�)���=¨

� r � � �
� �$� �O�du5� �2}��¸uE�b�������E�2} � ��u7� �O};�
�b�$�~���~���4���6���~�����=���=�����m�>����� ���y�~�Í�2¦B¢´���y���������6� �����=�$���
����������� ����� ��������³o����� ¡ �¤���)�·�=���=�=�¤å2�B�y�������4�~���-���m�=¢´�������·�=���=�~�)����¢C�����·���������
³��B��¿����y���~�'�-���m�O�B�~���oº´���O�����]���ª�����~�������=���=���m�m�@���2�m� ¡ �����O�y� �=�B�m��¢M�����£���y�0�y� ¡ ������� �����B�ê���¤�����~������� ������������� º´�������y�0ÑÒ�C���=���y���=¨ ÑÒ�
�~���������)�y������¢=���y�M���)���y�Í�����B�����~���y�
�����y�B�~���B��¢=���y�M���y����� �����B�~�#���~���~���������2¦´�-�;��� �y���=� ���C�����������~�#³��$�O�������C�~�������~����¢ ���������´¦¤�y�����B����� �
���:�~���������)�y�����M���C�������=�O�o����� �b³$�f����ºB��������¢y³o����� ¡ ��� �B�����?º ������� ¡ ���¤���b���j�=������¦6�O���������������C�������=�O�����j�)�������=���B�y�=�$º´���]���y� Ë ������� Ë �����
Ë � ¡ ¨E©M�y���y�)�~�y�������������H���y�������~���~�����d³o����� ¡ ����� ¡ � ���O���=���·�B���~� ¡ �����=� �������>��� �����)�·���������¤å2���~���~���~�B�~�)��³��������=�Õ�Í�$���'�~�?º����������m�y���
�]����&>�)�����C����¦6�O��� ¡ ���¤�·������¨E�s�y�~�Í�~�����y�����O�=�C��� �����B�����
�����H���y�f���=���y�Í�m�M���#���y�f�y����å2�����o³o�����8���y�-�=���M�������y���O���~�y���C�=À �dÂ|� �s���y���O���=¨
�$�;���y�����~� ���-���y�d�y����å2�����|³$�d³o�����~����¿B�d�������)���O����� ����³o�~�)���~���E�����y���´������� ³o�Í��� ���y�b�y��º��=���B�y� ���C�;���4�f����� ¡ ���o��� �y����� ���C�����������

���~�����)�B�]� ����� ���C�o��� ���y�y�-���������y�����=¨;©M�~�����=���������B��³o����� ¡ � ¡ �����=�������·����� ¡ ���m¿>�·���B� �)�B�����=�����y���o���~�����y�o� ³o��º´���=³d�d�)�B�~�)�=���~���y�
���y�����=º������������~�����=���|���H���y�b�~����å2�=����¨#ÑÐ��³$�b���'����ºB�������>���~�m�>���>��� �y����� ���C������������¢B���~�b���~���B�O���y�y�������=�E�·�B�$�y�����O�=� ���~�������������4�B�y�;���������
³o����� ¡ ������¿����>��� ���y�=³J���=º��=�Ç¨ � �y�$��� �y����� �=�B�m� �����B�6³$���y��� ¡ �����B�����?º ������� ¡ ���b�y�������M���·�������O���Ý�2³$�����b�����)�=�~�)�B¢y���~��³$��³��B�y���>��Ô4���
�����~���m���H�O�~�y���B�O�M�������~�����y�m���B�b�����o�~���f�������=���=�����m�����~�6�������m�y���y�~¨

� r
	M� ��� ����w4u5� �2}�� }��6{����C};�d{�w+���
� '�)��
1
	B#!�& �Ë �'���=èC�y���2���·�y�~�����y���·�������~�'Â|� � �O���������C�¤�·�������y�����]¦������m��¢-�������m���=�d����³$����¿6�·�y����ÆÇ����� �]���y�]�y����å2�����f�������=���)��� ¡ �=�

�������=�)��������ë � ¡ � º���¨ Ë �¤�������]����èB�~�=�O���·�y�������~�'�·�B�o�'���=���=�����m�>�B�������)��� �����B�>���~�¤��Ä � �s�����������·���M���~��¦B�=���=¢C�������m���=�;���]³$����¿
�������y�f��� �y����� �=�B�m� �����B���B�O�-�=�)���o���8���~�f�y����å2�=�)�M�������y�f��� �����d�O�������=�=¢y���o�y�=���)��� ¡ �=�������������MÑ��Ì���
���=�)�������0ë�¨�ÑÒ�j�B�y������������¢~³��
������¿ �·�~�~�����y���·�B� ��
�� ���#�]�)��� �y�y�����y�'�'&>�)���¤µ¶��� E ¨ E ¹E��� �y��� º´�����b�����·�m���O�����~�����y�������y�y�-�������·�B�$���=º��=���B�y� ���C�M���~�>���O�����8�B�y�
�y���������2¦´���¤��� �y���=� ���C�����������~�=¢y���~� ��
�� ���
� �O���)���)�m����¦¥µVÅ � E ¨ E ¹��������y�y�-�����d�y� ¡ �����=� �����B�����~�j����������� ����� �����������
���y�o���=���y�����=¨

� �!'��9# �  ¤Ë ���y�����0���6� �����=�~�¥���^�?º����m���B�¤���:�2³��6���C���=����� �����������#�������·�=���=�~�)���d�>¦B�=���=¨ Ë �����=èC�y�=�O�d�����?ºB���#���~�0��� ¡ �����O���=�~�)�]�O�y�~���B�O�
�·���'�~ºB�>���y��ÆV³$���=¿^º´���O���������§Á|�y�����-�=���£�)���C�������6µ·�B¨ ��¨
�������´�~��¢
Ñ � ÄdÑ2��¹�¢E���~�ª���~� � Æ o ³$����¿vº´���O���������^���´�y� ¡ ���'���b�)�=�C�����=�
³o�����y�������y� � ÃÏµ·�B¨ ��¨#Å$Ö � ¢8Ã�ÄdÑ�á�ÃC�m�����·�B���~¹)¨'©M�y���O�]º´����������³o����� ¡ �]���B��� ���v�)�B� å2�y�~�)��������³o�����§� º��=�����=�B�b�������·�=���=�~�)�'���m�?º��=�Ç¨
Ë �������O� ���=èC�y�=�O�d�O�~�y���B�O�M�·�B�M�2³�� o Æ E �y�?¦>º´���������M�-���d¦B�=���M³o�����y�������y� � Jàµ¶��¨ �~¨yë$����� ���y���~���j¢�Å$��� ¡ ���������B¢ � È´�·���m�~¹�¨

����35, �T%(#&)+*� �æ³$����¿´�O������������¢-�������C�������y���¥� º��=�d���y� �y����å2�=�)���-���������H¢H���b���=èC�y���2���=�¥�·�������y� �~�������|���y��Â;��� �2���~�����C��¢4���j�O�y�~���B�O�
³$����¿��B�^�~���������2¦´�-����� �y���=� ���C�����������~�¤���;���y�¤�����y�B�~���B��¢4�)È��-������� �=�B�m��³o�Í���^�y�����B�������b���^�B�y�������y���~�����B¢����y� �y���´�y�~�������B�^���
�����)�~�]�=�C���������-���������y�j���y�>���=���y�Í�m�f���o�B�y�����=���=���m�m��¢
���~�§���B�����m���)�������v³o�Í���@�)�B�����=�����y���¤º´���j�=� �����$���~�^���y� Ë � ¡ ¨0�¸���=�����~�
³$����¿´�O������������¢E�������C�������~�=�£� ºB���'���y��¦�������¢E���]���=èC�y�=�O�����ª�·�B�����y�j�~�O�����b���y�j���=���=���m�m�£�������´���������B¢:���v�O�y�~���B�O�]���y�j���C�������O��º��
���]�~���=�]�=�C��� �����B�6³$����¿ ���´º��B��ºB�=�����6�������$Ñ��s���8���y���y����å2�=�)�=¨ Ë �¤�����������=èC�y���2�M�������y�y�����~����� �����)�B�C����� ¡ �y�����������]�����~���y��� ¡ ���=�=¢
���~�����=���y�)�2³$����¿´���~�~¢����~�6�~���=������º��=�$�~��� º´���O������¨

�



� ���������	��
�
�
������������������������������ ��� �!��
"������
#����$%
�&'�

( k)e�)�YEe�*+*
e�lEk)g-, [�Y/.�\10)e�i

2

232

23232

254

6 6 6 6 6

Äo�=���=º?���C��2�����~�)���y�������� �������
�������C�����~���

Ø ���m�O�o�y�����Ý����
�����y���~�����
���)���y�Í�����B�
�)�B� �y���������

Â;���������2¦C�-�
�����y���������
���)�~�~�Í�����B�
�~�~�����$#����

Â;���������2¦C�-�
���]�~���=�]�=�C�OÆ
� �����B�~�

�)�B�]�~�������=�

Â;����å2�=���
�����)�y� ���C��Æ���������
�)�B� �y���������

7 .´+�3 8 9 : ;

< R 5#.BDÎ+-FH<>=VA
/21-7:F@?E+�<>=V14F
,

<>< R Kf3�1�<?1-<�G89;.
UÐ+-F:T-7E+-T4.A?
.CBEF@=¶<D=Ç14F

<><>< RFE 9;.C3�+�<D=Ç14FE+-U$+-F@?
+�G�=V14DÏ+�<D=ÇA�,=.CDÏ+-FH<D=VAB,

<�HvR/I F@=VDÏ+�<>=V14F +�F@?
9
3�1-<�1-<�G89�.

=ÇDÏ9
UV.CD@.CFH<?+�<D=Ç14F

J =VFE+�U�?:18AC7:D@.CFH<?+�<D=Ç14F
+-F@?K?@=Ç,�,�.BDL=ÇFE+�<>=V14F

K�3=1�M=.CA�<6DL=ÇUV.C,�<?14F
.C,

N ±�¾ ­�¼PO?²RQ
% ©M�y�¤�m����¿>�´�y� ¡ ���m�fµ·Ñ�¢ ÑOÑ�¢ ÑOÑ�Ñ�¢ Ñ��¤¹M�����·���M��� ���y�f�~���O�m�M���#���y�f�y����å2�����d����������� ¡ ���6���¥Ã´�=�)�������0ë ���#���y�f���������y�����-�B�����V¨
% ×��B�y������¦6³o�������O�~���=��º´���O�f�����8���������$���#���y�f�y����å2������¢y���~��³o�����8�����C����� ¡ �����f���0�?ºB���m�����b���
�~º��¤�y�B�y���o�]³$���=¿-¨
% ©M�y� Â|���Õ�O���������C�¤³o�����E³��B��¿j�B���~���O�m�bÑ�¢ ÑOÑ�¢ ÑOÑ�Ñ����|���y�]�y����å2�����=¢����~�¥³o�����E�y���������)�����y�������)�y� �=�B�m� �����B�¥�·�������y�=���'���������=¨ " �³o�����8�������]�~�?º��f����� �¤���y�~���o�����~���O�oÑ��'¨
% ©M�y�����=���=�����m���B�������2�m���C�f³o�����;�������~� ¡ �y��¿����$���~����� �y����� ���C�m� �������v³$����¿0���v�~���O�fÑ��Õ�������y���y����å2�=�)�=¢8���~�§³o�����|�y�������~���'���y������)�~�]�=�C��� �����B�6�·�B�o���~���M�~���O��¨


